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Exam I, MTH 221, Spring 2015

Ayman Badawi ﬁ

QUESTION 1. Find a matrix A. 2 x 3, such that 1
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QUESTION 2. Given that A is a 5 x 5 matrix such that det(4) = 2015. Let B be the second column of A. Consider the
system of L.E AX = B. Convince me that such system must have unique selution. Then find the solution.
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QUESTION 3. Let A =2]~1 7 |b| such that dct(A) = —130. Let B =2| -1 7 b:j . Find det(B). [Hint
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use the definition to find det{A) and det(B) and in both calculations use the third column, T
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QUESTION 4. Given A is a4 x 4 matrix such that: 4 3R, + R — R; B ‘11-7; C R.::-i' ; D= g (1) (1) g der(p) =
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(ii) Find clementary matrices L, L> such that L, L-D = B.
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{vi) Find the solution sct for the system of L.E. AX =
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QUESTION 6. Find the solution sct for
FF+Ixtry-r3=0
ey + 2043z 42 =4
—ry-23+2ry=§
X| ¥a K} xLi = (@ | = -y Iy
- -1 ¢
N IR Rt O BT [ VST D
- - . 5 o i4
P\3 } ] 2 0 | 5 " 0 O i
x-Sy =0
VO o ">1|0 1 - ) ) X)
= = 32 v bl X, * E
R3+R|%r&l o © | 2 |-¢ Xq + 30y = % > lCOd\hﬂ ariagble s [_ Xy
variabl e
o @ o} |y Xy + 2y =14 ong | free
= whnidely many tolutions.
X, = 5Y _ -1 x ) qum
o = | Solution set= J(5rq 10 v m8 2780 )
)(; :"'%_)YH

o L/



@ - Ayman Badawi ohovou K
QUESTION 7. For what values of & will the following system be consistent?
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QUESTION 8. For what values of a, b, ¢ will the following system have unique solution?
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